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(1) R (V) L TEOERILLED v = 10 %
(2) Bo &5 fE (n) |
@1= 207 = 1.25
100

m= &l X 8L = 1.25 X 27 = 33.8 N/wf
FoT m = 33.8 Nof

(3)KEA R (W/C) m = -22.4 + 29.83 X C/W

W/C 29.8 = (33.8 + 22.4) X 100 = 53.0 % = [55% (L-FR{E)]

‘ S W/C =530 %
(4) BAKE (W) UTEOEZCED W =172 ke/nd
(5YHEGTE A RE(C) C=W<= (W/C) X 100 =172 = 53.0 X 100 = 325 kg/m

Cyv=C +~ BE =325 + 3.02 =108 L/m

(6) 225 (A) A=12150%X1000=4d5 L/
(7YHEACHEME (G) SLBOFERICLD MIFHE = 0.586 m/m ERE = 61.0 %

Gv = 0.586 X 1000 X 61.0 -~ 100 = 357 L/of

Glv= Gy X500 % =179 L/nd Gl= GIVXEESEE = (79 X 2.71 = 485 keg/nd

Glv = Gv X 50.0 % = 178 L/nd Gl= GIWWXEHEE = 11§ X 271 = 482 kg/nd
(8) BAFIEHME(S) Sv = 1000 — (WH+Cv+Gv+A) = 1000 — 682 = 318 L/m

Sly = Sv X 600 % = 191 L/ Sl= SIVXZEEFE = 101 X 2.64 = 504 kg/md

S2v= Sv X 40.0 % = 127 L/nd S2= SIVXEEHEE = 127 X 2.67 = 339 kg/m
9)fAME(s/a) s/a = Sv = (Gv+Syv) X 100 = 47.1 %
(10) BAEFHIE (Ad) Ad = C X HINE X BE = 325 X 0.6200 % X .00 = 2.02 keg/nm
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